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of each section. )

Do not write below this line.

This space is for official use only.

Fictitious Roll Number
Section/Question Marks .

I
i Rameshwari Photocopy Service

= Dethi school of Economics
i 9310867818, 9871075433

11/14
I1/15
Total

EEE 2008 B 1

9%



Section I

Instructions. Answer Questions 1 to 10. Each question is followed by four assertions,
(a) to (d), one of which is correct. Indicate the correct choice by circling it on this
Examination. Each correct choice will earn you 2 marks. However, you will lose 2/3 mark
for each incorrect choice. Please ensure that you hand in this Examination along
with the Answer booklet.

Question 1. There is a pile of 17 matchsticks on a table. Players 1 and 2 take turns in
removing matchsticks from the pile, starting with Player 1. On cach turn, a player has
to remove a number of sticks that equals the square of a positive integer, such thatl the
number of matchsticks that remain on the table equals some non-negative integer. The
player who cannot do so, when it is his turn, loses.

(a) If Player 2 plays appropriately, he can win regardless of how 1 actually plays.

{b) If Player 1 plays appropriately, he can win regardless of how 2 actually plays.

{c) Both players have a chance to win, if they play correctly.

{d) The outcome of the game cannot be predicted on the basis of the data given.

Question 2. Given A C R, let 14 be the function defined on R hy: Talzd =1z A
and 14(z) = 0 if z ¢ A. Consider the sequence of functions {(fn) for positive integers i,
where fu(z) = nlg 1 n(2) for z € R

(a) For every =z, the sequence of numbers (f,(2)) has a limit in .

(b} For every z, lim,, o fu(z) does not exist.

(¢) If limp_.o0 fn(x) exists, then the limit depends on z.

(d) limp oo fn(z) exists for all but a finite set of z € K.

Questl?n 3. Therg, are, E}&}Jrﬁggi(fif’ntical boxes, each with two drawers. Box A contains a
gold coift in "e‘ac'h‘ drawer. gy
a gold coin it bRE d}éﬁféﬂhndgé silver coin in another drawer. A box is chosen, a drawer
opened and a gold coin is found. What is the probability that the chosen box is (7

(a) 2/3

(b) 1/3

(c) 1/2

(d) 3/4

%"contains a silver coin in each drawer. Box ¢ contains

Question 4. A random variable has outcomes Success and Failure with probabilities 3/4

and 1/4 respectively. A gambler observes the sequence of outcomes of this variable and
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